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QUESTION 1

A developer has created a Node.js application that uses a Cloudant database. Which component must they consider
taking backups on once the application is in use?

A. The Cloudant database
B. The Node.js buildpack
C. The PaaS environment
D. The underlying server

Correct Answer: B

QUESTION 2
Which statement describes a multi-cloud approach?
A. Cloud services which have been provisioned from a single provider but which span public and private infrastructure .

B. The process of building a single born-in-the-cloud application which leverages at least two of laaS, PaaS and SaaS
services.

C. A mix and match of cloud services from different providers, often to meet specific workload needs but with no
connection or orchestration between them.

D. The process of using several distinct IBM Cloud accounts to provide and ensure separation between different
applications for security purposes.

Correct Answer: D

QUESTION 3

What is the function of the Push Notifications service?

A. Send notifications to mobile devices and browsers

B. Pushes fixes to applications as required

C. Sends notifications to the network team as required

D. Pushes notifications to the administration team as required

Correct Answer: D

QUESTION 4

To create custom Artificial Intelligence models, which IBM Cloud service is leveraged?
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A. ML Studio

B. Knowledge Studio
C. Watson Studio

D. Knowledge Catalog

Correct Answer: B

QUESTION 5

When does an organization realize the benefits of an APl economy?
A. When APIs can replace SQL queries

B. When all transactions are API based

C. When APIs become part of the business model

D. When logging of API calls is available

Correct Answer: B

QUESTION 6

What does Zerto on IBM Cloud provide?

A. Replication and disaster recovery functions

B. Data security for virtual environments

C. 24x7 highly available service to manage encryption keys
D. Encryption al the operating system and data level

Correct Answer: A

QUESTION 7

Which analytics service, available from the IBM Cloud catalog, provides a means for writing and running custom queries
against files in Cloud Object Storage, without the need to create a database?

A. Streaming Analytics
B. Decision Optimization
C. DB2 Warehouse

D. SQL Query
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Correct Answer: A

QUESTION 8
What is the role of Data Anonymization in Watson Knowledge Catalog?

A. It is the process to remove data columns that contain sensitive confidential data, such as PIl or restricted business
data, while preserving data from the other column that are not confidential or restricted

B. It is the processing of personal data in such a way that the data can no longer be attributed to a specific data subject
without the use of additional information.

C. Itis the process to mask data column that contain sensitive confidential such as PII or restricted business data, using
encryption software to provide access keys.

D. It is the encryption of data prior to transmission across networks.

Correct Answer: C

QUESTION 9

What are two key business drivers of IBM Cloud for Skytap Solutions?
A. Higher IT asset unitizations

B. Accelerate software development cycles

C. Lower cost of development per release

D. Meet regulatory requirements

E. Customer centric production planning

Correct Answer: BD

QUESTION 10

What does the Almanac service provide in reference to the Weather Company Data?

A. Historical daily or monthly weather data from a time period spanning 10 to 30 years or more
B. The current observed weather data

C. The observed weather data up to and including the previous 24 hours

D. An hourly weather forecast for the next 48 hours

Correct Answer: A
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QUESTION 11

What are two ways the appropriate level of security is ensured when managing API as a product?
A. Handle errors on assembly

B. Incorporate authentication tools

C. Control and enrich API messages using JavaScript

D. Monitor APl usage

E. Inject HTTP headers into a response

Correct Answer: CE

QUESTION 12

When dealing with multiple cloud vendors, which model has emerged as a viable option to simplifying the buying and
management processes?

A. IT as a Service (ITaaS)

B. DevOps

C. Infrastructure as Code (laC)
D. OpenStaok

Correct Answer: C

QUESTION 13

Which is an IBM Blockchain membership plan?
A. Certify Plus

B. Enterprise

C. Beginner

D. Premium

Correct Answer: B

QUESTION 14

A client wants to quickly develop a Proof of Concept application in the cloud, using Node.js. Which cloud service model
enables them to begin developing immediately?

A. laaS

C1000-039 Practice Test | C1000-039 Exam Questions | C1000-039 Braindumps 5/6


https://www.pass4itsure.com/c1000-039.html
https://www.pass4itsure.com/c1000-039.html
https://www.pass4itsure.com/c1000-039.html

. VCE & PDF https://www.pass4itsure.com/c1000-039.html
E 2024 Latest passditsure C1000-039 PDF and VCE dumps Download

PassditSure.com

B. SaaS
C. DbaaS
D. PaaS

Correct Answer: D

QUESTION 15

What is the function of IBM Cloud Log Analysis?

A. Monitors worker nodes, containers, replica sets, and services

B. Monitors the administrative activity made in the cluster

C. Provides infrastructure and application performance monitoring with a GUI
D. Expands log collection, retention, and search abilities

Correct Answer: B
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